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e (102 4\2 /2 4 8\ /2 4 8\ /7 24 26\ /1 3
FERITE 113 943 9 7|3 9 7)-[13 47 40 2_1<0 2-13>
1 41) \464 \4 16 \6 2339 \o 3/\2 -1 31

sin20°  logl0 % V5 64 (1,74 2.80 38.49>
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I
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1
2| e f xdx 3.42 12,79 227.92
0 4+6+9
e 9 0.7 %6 5234 \14.31 19.05 234.29
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% g :1), g 451 cosO  -sind _1 N5 25647 7 10
- - sin@ cosO| ~ + i o
425 9 0/=15850 o= [¥8*7 logl0 sinl0 cos30%| _ 110191 15
8 45 1 0 et<80 90>“ 16000 %5 13 ‘4 5‘
* X7 kv
S AL
(10, 20, 30) + (30, 4, 50) - (15, 25, 35) =(25, -1, 45)
/51, 2.758, %) + (log,10, €, sinl) =(10.463, 10.147, 1.245)
- - > > > o> ()
a=(1,2,3) b=(,57 orx a+b=(2 7, 10) a-b=32 7
20=(2, 4, 6) axb=(1,-4,3) O
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M(10, 20, 30)=| 20 Ma=| 2 0 Mmoo 1
30 3 C057 Sll’lj Mg): 3
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* 5]
SHABGE 195,100,104,110,112,1171+15,10,10,10,11,11}={100, 110, 114, 120, 123, 128}
{95,100,104,110,112}x5={475, 500, 520, 550, 560}  {{95,14},{125,30}}=2={{47.5, 7}, {62.5, 15}}
SRS RIS A R L LI A 5 2 TR A RS 5) n=1.10 A =0

(EEKE o Es) | (RAIER)
BROMELEADICIFRATEST TRAT 5, A=S - =
(Eo#ER) A={0,0,5,0,0,0,0,0,0,0}
HWEZEOSR

height={95,100,104,110,120,127} weight={13,14,17,19,22,26}
height, =95 weight,-weight,=5 m=|| height|| 1 Zn‘j height, =109.3333333
micl
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